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As a result, problems emerge when new breakthrough technologies arrive. If American workers, for example, take
much longer to learn how to operate new flexible manufacturing stations than workers in Germany (as they do),
the effective cost of those stations is lower in Germany than it is in the United States. More time is required before
equipment is up and running at capacity, and the need for extensive retraining generates costs and creates
bottlenecks that limit the speed with which new equipment can be employed. The result is a slower pace of
technological change. And in the end the skills of the population affect the wages of the top half. If the bottom half
can't effectively staff the processes that have to be operated, the management and professional jobs that go with
these processes will disappear.
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